
CHEMISTRY

BOOKS - MTG IIT JEE FOUNDATION

CARBON AND ITS COMPOUNDS

Illustrations

1. Give one example each of the following : 

A molecule containing double bond.

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_t2FQXomiJx5s


2. Give one example each of the following : 

A molecule in which central atom is linked to three other

atoms by covalent bonds.

Watch Video Solution

3. Give one example each of the following : 

A molecule in which central atom has ten electrons after

sharing.

Watch Video Solution

4. Write the electron dot structure of .

Watch Video Solution

NH3 and PCl5

https://dl.doubtnut.com/l/_rgbtRP5w5kWt
https://dl.doubtnut.com/l/_IA1qi3204q6U
https://dl.doubtnut.com/l/_DJ6pkkGJDjxk


5. Why are diamonds so hard?

Watch Video Solution

6. Write some physical properties of graphite.

Watch Video Solution

7. Draw carbon ring structure and structural formula of 

cyclopentane

Watch Video Solution

https://dl.doubtnut.com/l/_DJ6pkkGJDjxk
https://dl.doubtnut.com/l/_HzzOlHdf8tRx
https://dl.doubtnut.com/l/_bnhP7znStWUE
https://dl.doubtnut.com/l/_VvMZTxLARYOi


8. Draw carbon ring structure and structural formula of 

cyclohexane.

Watch Video Solution

9. Give condensed formula and bond line notation for 

cyclohexane and

Watch Video Solution

10. Give condensed formula and bond line notation for 

benzene.

Watch Video Solution

https://dl.doubtnut.com/l/_H5Mavaaz9Iip
https://dl.doubtnut.com/l/_KjMdYyteuAru
https://dl.doubtnut.com/l/_2jircc5ovnZx
https://dl.doubtnut.com/l/_Rcz88t61WYoc


11. What are saturated hydrocarbons? Explain with

examples.

Watch Video Solution

12. Give IUPAC names for the following hydrocarbons : 

Watch Video Solution

CH3 − CH
∣

C2H5

− CH
∣

C2H5

− CH3

13. Give IUPAC names for the following hydrocarbons : 

https://dl.doubtnut.com/l/_Rcz88t61WYoc
https://dl.doubtnut.com/l/_mSP0Y5oAfhf8
https://dl.doubtnut.com/l/_urQmRe0FYE0o


Watch Video Solution

14. Give IUPAC names for the following hydrocarbons : 

Watch Video Solution

CH3 − CH
∣

CH3

− CH2 − CH2 − CH
∣

CH3

− CH
∣

CH3

− CH2 − CH3

15. Give IUPAC names for the following hydrocarbons : 

Watch Video Solution

CH3 − CH2 − CH2 −

CH3

∣

C = CH − CH3

https://dl.doubtnut.com/l/_urQmRe0FYE0o
https://dl.doubtnut.com/l/_SsKopZxvgiIl
https://dl.doubtnut.com/l/_fj7ba4m2phFw


16. Starting from the hydrocarbon butane, write the

structures and IUPAC names of 

chloro derivative

Watch Video Solution

17. Starting from the hydrocarbon butane, write the

structures and IUPAC names of 

alcohol

Watch Video Solution

18. Starting from the hydrocarbon butane, write the

structures and IUPAC names of 

https://dl.doubtnut.com/l/_dxUHrvzbEkfX
https://dl.doubtnut.com/l/_eX9yGHEEUuq6
https://dl.doubtnut.com/l/_u627EdkCMOIl


aldehyde

Watch Video Solution

19. Starting from the hydrocarbon butane, write the

structures and IUPAC names of 

carboxylic acid

Watch Video Solution

20. Starting from the hydrocarbon butane, write the

structures and IUPAC names of 

amine

Watch Video Solution

https://dl.doubtnut.com/l/_u627EdkCMOIl
https://dl.doubtnut.com/l/_gu05AOqAFc94
https://dl.doubtnut.com/l/_2smJ6JYWRfso
https://dl.doubtnut.com/l/_wnN90YSTQWZn


21. Starting from the hydrocarbon butane, write the

structures and IUPAC names of 

ketone.

Watch Video Solution

22. Write IUPAC names of the following compounds : 

Watch Video Solution

CH3 −

Br

∣

CH −

Cl

∣

CH − CH3

23. Write IUPAC names of the following compounds : 

W t h Vid S l ti

CH3 − CH
∣

CHO

− CH2 − CH3

https://dl.doubtnut.com/l/_wnN90YSTQWZn
https://dl.doubtnut.com/l/_aeL04o4tfVH3
https://dl.doubtnut.com/l/_AOzwVnLwWBge


Watch Video Solution

24. CHO group cannot be present in the middle of a chain.

Justify.

Watch Video Solution

25. Draw the structures of the following compounds: 

Ethanoic acid

Watch Video Solution

26. Draw the structures of the following compounds: 

Butanone

Watch Video Solution

https://dl.doubtnut.com/l/_AOzwVnLwWBge
https://dl.doubtnut.com/l/_PDD25Er2eLJG
https://dl.doubtnut.com/l/_Mfu6UONNOmTm
https://dl.doubtnut.com/l/_fYvInlgEQv4u


27. Draw the structures of the following compounds: 

Hexanal

Watch Video Solution

28. An organic compound 'X' is a constituent of wine. On

heating with acidified potassium dichromate it gives a

compound 'Y' which gives brisk effervescence with sodium

bicarbonate. Identify 'X' and 'Y'. Give the chemical equations

involved in the reactions.

View Text Solution

https://dl.doubtnut.com/l/_fYvInlgEQv4u
https://dl.doubtnut.com/l/_VCvjdeQDhV7n
https://dl.doubtnut.com/l/_fv33WTy0qqAi


29. How will you obtain 

sodium ethoxide

Watch Video Solution

30. How will you obtain 

ethyl ethanoate and

Watch Video Solution

31. How will you obtain 

ethene from ethanol?

Watch Video Solution

https://dl.doubtnut.com/l/_S2bjmAYCD2lh
https://dl.doubtnut.com/l/_w5vRwTTMWYnm
https://dl.doubtnut.com/l/_No9LzSpXt2Rk
https://dl.doubtnut.com/l/_gf1z3aaFqbVk


32. Give chemical tests to detect the presence of ethanoic

acid.

Watch Video Solution

33. Complete the following chemical equations: 

Watch Video Solution

C2H5OH + O2 →

34. Complete the following chemical equations: 

Watch Video Solution

CH3COOH + NaHCO3 →

https://dl.doubtnut.com/l/_gf1z3aaFqbVk
https://dl.doubtnut.com/l/_pXwq7C6wZRvS
https://dl.doubtnut.com/l/_aVLLIzg5nttK
https://dl.doubtnut.com/l/_HHMPyU7yOSMv


35. Show an activity to prove detergents are more effective

in hard water than soaps.

View Text Solution

36. Write main properties of synthetic detergents.

Watch Video Solution

37. Explain cleansing action of soap with the help of the

structure of soap.

View Text Solution

https://dl.doubtnut.com/l/_HHMPyU7yOSMv
https://dl.doubtnut.com/l/_emwDSuSZZzZH
https://dl.doubtnut.com/l/_V7yEeS3DryhU


Solved Examples

38. Why is cleansing action of detergents considered more

effective than soaps?

View Text Solution

1. What is combustion? Give some reactions to show that

carbon in all its forms and in the form of compounds

undergo combustion.

Watch Video Solution

https://dl.doubtnut.com/l/_apkFTvQRoROC
https://dl.doubtnut.com/l/_VAZsvPh5CixF


2. Taking a suitable example show the formation of a

molecule bonded by triple covalent bond.

View Text Solution

3. A compound X has molecular formula . One mole of

X reacts with one mole of bromine to yield a compound Y.

Deduce the structures of X and Y.

View Text Solution

C3H6

4. Define isomerism. Write down the structures and names

of isomers of butane.

Watch Video Solution

https://dl.doubtnut.com/l/_Xtw9HoqlhG3H
https://dl.doubtnut.com/l/_HA0gA2nwSB2t
https://dl.doubtnut.com/l/_fXbaahalaf2Q


5. Answer the following : 

Why are some of the carbon compounds called saturated

while other unsaturated compounds?

Watch Video Solution

6. Answer the following : 

Which of these two are more reactive?

View Text Solution

7. What is meant ny 'word root' in IUPAC name. Give word

roots for compounds containing upto ten carbon atoms.

W t h Vid S l ti

https://dl.doubtnut.com/l/_fXbaahalaf2Q
https://dl.doubtnut.com/l/_bo9n6jojmnyo
https://dl.doubtnut.com/l/_QnbRXgpacWx9
https://dl.doubtnut.com/l/_5U65aiAPmxGx


Watch Video Solution

8. Explain the reaction of ethene and ethyne with bromine

water. How is this reaction used as test for unsaturation?

Watch Video Solution

9. What would be observed on adding 5% solution of

alkaline potassium permanganate drop by drop to some

warm ethanol taken in a test tube?

View Text Solution

10. Write the name of the compound formed during the

chemical reaction.

https://dl.doubtnut.com/l/_5U65aiAPmxGx
https://dl.doubtnut.com/l/_gMFl9G33k05e
https://dl.doubtnut.com/l/_md5aWmmNfQtI
https://dl.doubtnut.com/l/_neq93fjKMb7e


View Text Solution

11. How would you distinguish experimentally between an

alcohol and a carboxylic acid on the basic of a chemical

property?

View Text Solution

12. Explain the significance of term preflix in IUPAC

nomenclature.

View Text Solution

https://dl.doubtnut.com/l/_neq93fjKMb7e
https://dl.doubtnut.com/l/_lWV7L746mRlz
https://dl.doubtnut.com/l/_G2YmBdAbjzGX


13. Compare the following properties of ethanol and

ethanoic acid : 

Litmus test

View Text Solution

14. Compare the following properties of ethanol and

ethanoic acid : 

Sodium metal test

View Text Solution

15. Compare the following properties of ethanol and

ethanoic acid : 

https://dl.doubtnut.com/l/_ia2rYVfOldNT
https://dl.doubtnut.com/l/_H7UbItf0tk4s
https://dl.doubtnut.com/l/_EB5y5iLAWdDZ


Sodium bicarbonate test.

View Text Solution

16. Name the functional groups present in the following

compounds : 

Watch Video Solution

CH3CH2CH2OH

17. Name the functional groups present in the following

compounds : 

Watch Video Solution

CH3COCH2CH3

https://dl.doubtnut.com/l/_EB5y5iLAWdDZ
https://dl.doubtnut.com/l/_KdrxAnhm30PW
https://dl.doubtnut.com/l/_A5iKPcxd7muO
https://dl.doubtnut.com/l/_Mw09VUfmWoJ7


18. Name the functional groups present in the following

compounds : 

Watch Video Solution

CH3CH2CHO

19. Name the functional groups present in the following

compounds : 

Watch Video Solution

CH3CH2CH2COOH

20. Name the functional groups present in the following

compounds : 

https://dl.doubtnut.com/l/_Mw09VUfmWoJ7
https://dl.doubtnut.com/l/_4pVPhJ18f0qL
https://dl.doubtnut.com/l/_sV64e1pdHtCM


Watch Video Solution

CH3COOC2H5

21. What happens when vegetable oil (like groungnut oil) is

hydrogenated? Explain your answer with an equation.

View Text Solution

22. An organic compound A having molecular formula

 reacts witgh sodium metal and evolves a gas B

which readily catches fire. A also reacts with ethanol in t he

presence of concentrated sulphuric acid to form sweet

smelling substance C used in making perfumes. 

Identity the compounds A, B and C.

C2H4O2

https://dl.doubtnut.com/l/_sV64e1pdHtCM
https://dl.doubtnut.com/l/_USJintV3Ho5c
https://dl.doubtnut.com/l/_yB7DEzYVRlfN


View Text Solution

23. An organic compound A having molecular formula

 reacts witgh sodium metal and evolves a gas B

which readily catches fire. A also reacts with ethanol in t he

presence of concentrated sulphuric acid to form sweet

smelling substance C used in making perfumes. 

Write balanced chemical equations to represent 

the evolution of B from compound A

Watch Video Solution

C2H4O2

24. An organic compound A having molecular formula

 reacts witgh sodium metal and evolves a gas B

which readily catches fire. A also reacts with ethanol in t he

C2H4O2

https://dl.doubtnut.com/l/_yB7DEzYVRlfN
https://dl.doubtnut.com/l/_dN7lyAW1GKUy
https://dl.doubtnut.com/l/_6UNqtOLftXNi


presence of concentrated sulphuric acid to form sweet

smelling substance C used in making perfumes. 

Write balanced chemical equations to represent 

the conversion of compound A into compound C.

Watch Video Solution

25. Give the structures and IUPAC names of straight chain

alkanes with molecular formula 

Watch Video Solution

C4H10

26. Give the structures and IUPAC names of straight chain

alkanes with molecular formula 

https://dl.doubtnut.com/l/_6UNqtOLftXNi
https://dl.doubtnut.com/l/_9QQJd8OhZCGx
https://dl.doubtnut.com/l/_dg4CoDdC1FN6


Watch Video Solution

C5H12

27. Give the structures and IUPAC names of straight chain

alkanes with molecular formula 

Watch Video Solution

C6H14

28. Write chemical equations for the reactions of ethanoic

acid with 

sodium carbonate

Watch Video Solution

https://dl.doubtnut.com/l/_dg4CoDdC1FN6
https://dl.doubtnut.com/l/_Q3cb8rVoozYX
https://dl.doubtnut.com/l/_kkB3s7Mzd7TY
https://dl.doubtnut.com/l/_NkZSfKYzNo57


29. Write chemical equations for the reactions of ethanoic

acid with 

potassium

Watch Video Solution

30. Write chemical equations for the reactions of ethanoic

acid with 

soda lime

Watch Video Solution

31. Write chemical equations for the three reactions of

ethanoic acid with 

https://dl.doubtnut.com/l/_NkZSfKYzNo57
https://dl.doubtnut.com/l/_XIKNzPIHiGHH
https://dl.doubtnut.com/l/_M9gaMVyRgY6r


Ncert Section

ethanol in the presence of conc. .

Watch Video Solution

H2SO4

1. What would be the electron dot structure of carbon

dioxide which has the formula ?

View Text Solution

CO2

2. What would be the electron dot structure of a molecule

of sulphur which is made up of eight atoms of sulphur?

(Hint : The eight atoms of sulphur are joined together in

the form of a ring).

https://dl.doubtnut.com/l/_M9gaMVyRgY6r
https://dl.doubtnut.com/l/_XkrMNYiaX5Hc
https://dl.doubtnut.com/l/_LlE5859KOveD


View Text Solution

3. How many structural isomers can you draw for pentane?

View Text Solution

4. What are the two properties of carbon which lead to the

huge number of carbon compounds we see around us?

View Text Solution

5. What will be the formula and electron dot structure of

cyclopentane?

View Text Solution

https://dl.doubtnut.com/l/_LlE5859KOveD
https://dl.doubtnut.com/l/_evqiNtNEfBQg
https://dl.doubtnut.com/l/_MNN3MmnZ1jez
https://dl.doubtnut.com/l/_GKqRgdoRiIs5


6. Draw the structures of the following compounds: 

(i) Ethanoic acid (ii) Bromopentane 

(iii) Butanone (iv) Hexanal 

Are structural isomers possible for bromopentane?

Watch Video Solution

7. How would you name the following compounds? 

Watch Video Solution

CH3 − CH2 − Br

https://dl.doubtnut.com/l/_GKqRgdoRiIs5
https://dl.doubtnut.com/l/_LKSFZDZYka8Y
https://dl.doubtnut.com/l/_upgpJ89jDRBJ


8. How would you name the following compounds? 

Watch Video Solution

H −

H

∣

C = O

9. How would you name the following compounds? 

Watch Video Solution

CH3 − CH2 − CH2 − CH2 − C ≡ C − H

10. Why is the conversion of ethanol to ethanoic acid an

oxidation reaction?

View Text Solution

https://dl.doubtnut.com/l/_JxBZaLnwQh5n
https://dl.doubtnut.com/l/_QfcUfACyI7of
https://dl.doubtnut.com/l/_5iyQAQwXMoRZ


11. A mixture of ethyne and oxygen is burnt for welding. Can

you tell why a mixture of ethyne and air is not used?

View Text Solution

12. How would distinguish experimentally between an

alcohol and a carboxylic acid?

View Text Solution

13. What are oxidising agents?

View Text Solution

https://dl.doubtnut.com/l/_mh7677ck8Y6r
https://dl.doubtnut.com/l/_Ahg3zsFHcw0G
https://dl.doubtnut.com/l/_XjtgsbGuaG1e


14. Would you be able to check if water is hard by using a

detergent?

View Text Solution

15. People use a variety of methods to wash clothes. Usually

after adding the soap, they beat the clothes on a stone or

beat them with a paddle, scrub with a brush or the mixture

is agitated in a washing machine. Why is this agitation

necessary to get clean clothes?

View Text Solution

16. Ethane, with the molecular formula  hasC2H6

https://dl.doubtnut.com/l/_XkmyxMPXyMUY
https://dl.doubtnut.com/l/_fZqHrj5JC2o1
https://dl.doubtnut.com/l/_SBZdcmwJ0RYP


A. 6 covalent bonds

B. 7 covalent bonds

C. 8 covalent bonds

D. 9 covalent bonds

Answer: B

View Text Solution

17. Butanone is a four carbon compound with the functional

group

A. carboxylic acid

B. aldehyde

C. ketone

https://dl.doubtnut.com/l/_SBZdcmwJ0RYP
https://dl.doubtnut.com/l/_GbD4RuAFfLyo


D. alcohol

Answer: C

View Text Solution

18. While cooking, if the bottom of the vessel is getting

blackened on the outside, it means that

A. the food is not cooked completely

B. the food is not burning completely

C. the fuel is wet

D. the food is burning completely

Answer: B

i l i

https://dl.doubtnut.com/l/_GbD4RuAFfLyo
https://dl.doubtnut.com/l/_pLwRYBCfTic5


View Text Solution

19. Explain the nature of the covalent bond using the bond

formation in .

View Text Solution

CH3Cl

20. Draw the electron dot structures for 

Ethanoic acid

Watch Video Solution

21. Draw the electron dot structures for 

Watch Video Solution

H2S

https://dl.doubtnut.com/l/_pLwRYBCfTic5
https://dl.doubtnut.com/l/_90F5B2tguibE
https://dl.doubtnut.com/l/_z470XgQhKwpG
https://dl.doubtnut.com/l/_1mfgoL7mPype


Watch Video Solution

22. Draw the electron dot structures for 

Propanone

Watch Video Solution

23. Draw the electron dot structures for 

Watch Video Solution

F2

24. What is a homologous series? Explain with an example.

View Text Solution

https://dl.doubtnut.com/l/_1mfgoL7mPype
https://dl.doubtnut.com/l/_1uvu4l7pJKVj
https://dl.doubtnut.com/l/_PJkB3FH84LHT
https://dl.doubtnut.com/l/_2cionJzO9hNR


25. How can ethanol and ethanoic acid be differentiated in

the basic of their physical and chemical properties?

View Text Solution

26. Why does micelle formation take place when soap is

added to water? Will a micelle be formed in other solvents

such as ethanol also?

View Text Solution

27. Why are carbon and its compounds used as fuels for

most applicants?

View Text Solution

https://dl.doubtnut.com/l/_1VZk0i0X6iM6
https://dl.doubtnut.com/l/_bNZGSGoWY4cX
https://dl.doubtnut.com/l/_QVrs92MB90Nz


28. Explain the formation of scum when hard water is

treated with soap.

View Text Solution

29. What change will youn observed if you test soap with

itmus paper (blue or red)?

View Text Solution

30. What is hydrogenation? What is its industrial

application?

View Text Solution

https://dl.doubtnut.com/l/_QVrs92MB90Nz
https://dl.doubtnut.com/l/_OzNMTipNh9EQ
https://dl.doubtnut.com/l/_F2790g5LbXwa
https://dl.doubtnut.com/l/_TrROV1Bt95aj


31. Which of the following hydrocarbons undergo addition

reactions : ?

View Text Solution

C2H6, C3H8, C3H6, C2H2 and CH4

32. Give a test that can be used to differentiate chemically

between butter and cooking oil?

View Text Solution

33. Explain the mechanism of cleansing action of soaps.

View Text Solution

https://dl.doubtnut.com/l/_e5AQdCFzs7b7
https://dl.doubtnut.com/l/_SpKL99euUH01
https://dl.doubtnut.com/l/_iDY38fTuZNk5


Exercise Multiple Choice Questions Level 1

1. A phenomenon by which an element occurs in different

physical modification in same physical state is called

A. isomerism

B. allotropy

C. amorphous

D. crystalline

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_bSlLbhUTau0X


2. Number of free electron(s) in each carbon atom in

graphite is/are

A. two

B. four

C. one

D. three

Answer: C

View Text Solution

3. In fullerene carbon atoms are arranged in mixed

A. tetragons and pentagons

https://dl.doubtnut.com/l/_digJwMzNNB3e
https://dl.doubtnut.com/l/_9rYXNJvNHKuk


B. pentagons and hexagons

C. pentagons and heptagons

D. all are correct

Answer: B

Watch Video Solution

4. Which of the following does not contain a double bond?

A. 

B. 

C. HCl

D. 

CO2

C2H4

O2

https://dl.doubtnut.com/l/_9rYXNJvNHKuk
https://dl.doubtnut.com/l/_45TfHPA3bBiW


Answer: C

Watch Video Solution

5. Diamond is not a good conductor of electricity because

A. it is very hard

B. its structure is very compact

C. it is not water soluble

D. it has no free electron

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_45TfHPA3bBiW
https://dl.doubtnut.com/l/_oGWkDGxUEAAv


6. The difference in molecular weight of two consecutive

members of a homologous series is

A. 15

B. 14

C. 8

D. 9

Answer: B

Watch Video Solution

7. The general formula of an ester where R represents alkyl

group is

https://dl.doubtnut.com/l/_PrgXISn8Cb64
https://dl.doubtnut.com/l/_oYNEH8rpps1f


A. ROH

B. RCOOH

C. RCOOR

D. RH

Answer: C

Watch Video Solution

8. The IUPAC name of  is

A. acetaldehyde

B. methanal

C. ethanal

CH3CHO

https://dl.doubtnut.com/l/_oYNEH8rpps1f
https://dl.doubtnut.com/l/_z7oDBLkmEBdm


D. formaldehyde

Answer: C

Watch Video Solution

9. Which of the following have a triple bond?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

C2H4

C3H4

CV3H8

C2H6

https://dl.doubtnut.com/l/_z7oDBLkmEBdm
https://dl.doubtnut.com/l/_uY3T0sfXuku0


10. All the members of homologous series of alkynes have

the general formula

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CN H2N

CnH2n + 2

CnH2n − 2

CnH2n − 4

11. Alcohols can be prepared by hydration of

https://dl.doubtnut.com/l/_uY3T0sfXuku0
https://dl.doubtnut.com/l/_rtLMG2JW8qh0
https://dl.doubtnut.com/l/_jZEtURffIUed


A. alkenes

B. alkanes

C. alkynes

D. acids

Answer: A

Watch Video Solution

12. The reaction  is an

example of

A. additional reaction

B. substitution reaction

C. elimination reaction

CH4 + Cl2

hv
−−→
light

CH3Cl + HCl

https://dl.doubtnut.com/l/_jZEtURffIUed
https://dl.doubtnut.com/l/_rJEbGHOKz3x3


D. oxidation reaction

Answer: B

Watch Video Solution

13. When ethanoic acid is heated with  the gas

evolved is

A. 

B. 

C. 

D. 

Answer: B

h id l i

NaHCO3

H2

CO2

CH4

CO

https://dl.doubtnut.com/l/_rJEbGHOKz3x3
https://dl.doubtnut.com/l/_90ZrtnSHRsoI


Watch Video Solution

14. Methane, ethane and propane are said to form a

homologous series because all are

A. hydrocarbons

B. saturated hydrocarbons

C. aliphatic hydrocarbons

D. differ from each other by  group

Answer: D

Watch Video Solution

−CH2

https://dl.doubtnut.com/l/_90ZrtnSHRsoI
https://dl.doubtnut.com/l/_UUlxPTgEM8KU


15. Which of the following belong to the same homologous

series?

A. Ethane, ethene, ethyne

B. Propanol, propanone, propanal

C. Methanol, ethanol, propaol

D. Ethane, ethanol, ethanoic acid

Answer: C

Watch Video Solution

16. Ethane can be prepared by reaction of ethanol with

A. hot conc. H2SO4

https://dl.doubtnut.com/l/_hEclT1lNMjZz
https://dl.doubtnut.com/l/_fjRwN5edodVs


B. alkaline 

C. sodium metal

D. 

Answer: A

Watch Video Solution

KMnO4

NAHCO3

17. Which of the following is the functional group for

carboxylic acid?

A. 

https://dl.doubtnut.com/l/_fjRwN5edodVs
https://dl.doubtnut.com/l/_vd3d8qR6oL7s


B. 

C. 

D. 

Answer: D

Watch Video Solution

−OH

18. The structural formula of ethyl ethanoate is

A. CH3 −

O

∣ ∣

C − OCH3

https://dl.doubtnut.com/l/_vd3d8qR6oL7s
https://dl.doubtnut.com/l/_vHz1nHpUs1F8


B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3 −

O

∣ ∣

C − OCH2CH3

CH3CH2 −

O

∣ ∣

C − OCH2CH3

CH3CH2 −

O

∣ ∣

C − OCH3

19. Conversion of ethanol to ethanoic acid is a/an

A. substitution reaction

B. oxidation reaction

C. addition reaction

D. rearrangement reaction

https://dl.doubtnut.com/l/_vHz1nHpUs1F8
https://dl.doubtnut.com/l/_FzDqRFab0csN


Answer: B

Watch Video Solution

20. In the reaction,  the gas

obtained is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3COONa + NaOH →

C2H6

C2H2

CH4

C3H8

https://dl.doubtnut.com/l/_FzDqRFab0csN
https://dl.doubtnut.com/l/_WaPa7NV5kn64


21. Ethanol on complete oxidation gives

A. carbon dioxide and water

B. acetaldehyde

C. acetic acid

D. acetone

Answer: C

Watch Video Solution

22. When the stopper of a bottle containing a colourless

liquid was removed, it gave out smell like that of venegar.

The liquid in the bottle could be

https://dl.doubtnut.com/l/_LokLnQft9hDd
https://dl.doubtnut.com/l/_etI2yZY38TGh


A. hydrochloric acid

B. sodium hydroxide solution

C. acetic acid solution

D. sodium carbonate solution

Answer: C

Watch Video Solution

23.  reacts with hydrogen in presence og Ni to give

A. 

B. 

C. 

C2H4

CH4

C2H6

HCOOH

https://dl.doubtnut.com/l/_etI2yZY38TGh
https://dl.doubtnut.com/l/_GSYdylwIydYt


D. 

Answer: B

Watch Video Solution

HCHO

24. Vegetable oils which are liquid at room temperature, can

be converted to solid ghee by the presence of

A. dehydrogenation

B. hydrogenation

C. halogenation

D. dehydration

Answer: B

h id l i

https://dl.doubtnut.com/l/_GSYdylwIydYt
https://dl.doubtnut.com/l/_5LcdMr4sa60u


Watch Video Solution

25. The following reaction is an example of

A. addition reaction

B. substitution reaction

C. combustion reaction

D. displacement reaction

Answer: C

Watch Video Solution

CH4 + 2O2 → CO2 + 2H2O + heat + light

https://dl.doubtnut.com/l/_5LcdMr4sa60u
https://dl.doubtnut.com/l/_Be03YQCpYIQ0


26. Complete the following reaction : 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3COOH

HCOOH

CH3COCH3

CH3OH

27. IUPAC name of  is(C2H5)2CHCH2OH

https://dl.doubtnut.com/l/_e3D6sV4kojUI
https://dl.doubtnut.com/l/_4rbx9Tgzr5fq


A. 2-ethylbutane-1-ol

B. 2-methylpentan-1-ol

C. 2-ethylpentan-1-ol

D. 3-ethylbutane-1-ol

Answer: A

View Text Solution

28. IUPAC name of the compound 

 is

A. 3,3,3-trimethylpropanal

B. 2,2-dimethylbutanal

CH3

CH3

∣

C
∣

CH3

− CH2CHO

https://dl.doubtnut.com/l/_4rbx9Tgzr5fq
https://dl.doubtnut.com/l/_13LUV3GH1YYe


C. 3,3-dimethylbutanal

D. 1,1-dimethylbutanal

Answer: C

Watch Video Solution

29. IUPAC name of the compound 

 is

A. 1,1-dimethylprop-2-ene

B. 2-methylprop-1-ene

C. 2-ethyl-3,3-dimethylbutane

D. 2,3-dimethylhexane

CH2 = C(CH3)2

https://dl.doubtnut.com/l/_13LUV3GH1YYe
https://dl.doubtnut.com/l/_Pmde5h87m2T4


Answer: B

Watch Video Solution

30. In the presence of concentrated sulphuric acid, acetic

acid reacts with ethyl alcohol to produce

A. aldehyde

B. alcohol

C. ester

D. carboxylic acid

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Pmde5h87m2T4
https://dl.doubtnut.com/l/_zjWj9A9edabi


Exercise Multiple Choice Questions Level 2

1. Number of electrons shared between carbon-carbon

atons in ethene is

A. 2

B. 4

C. 6

D. 8

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_bQYyykIu96sd


2. How many unshared pair of electrons are present in

water molecule?

A. One

B. Zero

C. Two

D. Three

Answer: C

Watch Video Solution

3. The number of isomers of pentane is

A. 2

https://dl.doubtnut.com/l/_LK9No8khP5En
https://dl.doubtnut.com/l/_ozGbYsYF0p0N


B. 3

C. 4

D. 5

Answer: B

View Text Solution

4. Unsaturation in the organic compound can be tested by

the help of

A. Baeyer's test

B. Fehling test

C. chlorination reaction

D. dehydration reaction

https://dl.doubtnut.com/l/_ozGbYsYF0p0N
https://dl.doubtnut.com/l/_H2EvJipu9Vev


Answer: A

Watch Video Solution

5. The reaction, 

 suggests that

ethanol is

A. acidic in nature

B. basic in nature

C. amphoteric in nature

D. neutral in nature

Answer: A

Watch Video Solution

2C2H5OH + 2Na → 2C2H5ONa + H2

https://dl.doubtnut.com/l/_H2EvJipu9Vev
https://dl.doubtnut.com/l/_AXQZM5wtZxPJ


6. Which compound gives effervescence with sodium metal

but not with sodium bicarbonate?

A. Ethanol

B. Ethanoic acid

C. Ethanal

D. Ester

Answer: A

Watch Video Solution

7. Among the following the one having longest chain is

https://dl.doubtnut.com/l/_AXQZM5wtZxPJ
https://dl.doubtnut.com/l/_voR9ghQQYJr1
https://dl.doubtnut.com/l/_1geVjMUAyvnS


A. neo-pentane

B. iso-pentane

C. 2-methylpentane

D. 2,2-dimethylbutane

Answer: C

Watch Video Solution

8. The IUPAC name of the compound 

 is

A. 2-isopropylpropane

B. iso-butane

CH2 − CH
∣

CH ( CH3 ) 2

− CH3

https://dl.doubtnut.com/l/_1geVjMUAyvnS
https://dl.doubtnut.com/l/_ZgUkMJFauLMq


C. 2,3-dimethylbutane

D. 2,3-dimethylpentane

Answer: C

Watch Video Solution

9. An organic compound X with molecular formula 

turns litmus red and gives brisk effervescence with sodium

bicarbonate. Identify the compound.

A. Ethanol

B. Ethanoic acid

C. Ethanal

D. Ethyl ethanoate

C2H4O2

https://dl.doubtnut.com/l/_ZgUkMJFauLMq
https://dl.doubtnut.com/l/_6hhHI6m0A5Px


Answer: B

Watch Video Solution

10.  the number of possible isomers is

A. 3

B. 6

C. 4

D. 5

Answer: D

Watch Video Solution

C6H14

https://dl.doubtnut.com/l/_6hhHI6m0A5Px
https://dl.doubtnut.com/l/_9mpzSi2hT2Iy


11. Which of the following set of compounds have same

molecular formula?

A. Butane and iso-butane

B. Cyclohexane and hexene

C. Propanal and propanone

D. All of these

Answer: D

Watch Video Solution

12. Which of the following is an isomeric pair?

A. Ethane and propane

https://dl.doubtnut.com/l/_TfIf4buMXmtX
https://dl.doubtnut.com/l/_YWgS3NBV75pp


B. Ethane and ethene

C. Propane and butane

D. Butane and 2-methylpropane

Answer: D

Watch Video Solution

13. Which of the following hydrocarbons does not

decolourise bromine water?

A. 

B. 

C. 

D. 

C10H22

C6H12

C10H18

C10H20

https://dl.doubtnut.com/l/_YWgS3NBV75pp
https://dl.doubtnut.com/l/_aYCAYjof4L2M


Answer: A

Watch Video Solution

14. What is observed when acetic acid and sodium

bicarbonate solution are mixed?

A. A colourless odourless gas is liberated.

B. A colourless gas that turns blue litmus red.

C. A colourless gas which burns with a soap sound.

D. Both (a) and (b).

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_aYCAYjof4L2M
https://dl.doubtnut.com/l/_8sA1vfzg785g


15. 2 mL of ethanoic acid was taken in each of the three test

tubes A, B and C. To these test tubes 2 mL, 4 mL and 8 mL of

water wad added respectively. Which test tube will give a

clear solution?

A. Test tube A only

B. Test tube B only

C. Test tube A and B only

D. All the test tubes

Answer: D

Watch Video Solution

16. Which of the following statements is not correct?

https://dl.doubtnut.com/l/_qPVYTHbrMPWD
https://dl.doubtnut.com/l/_EbatrX4jPGuK


A. A common functional group is present in different

members of a homologous series.

B. Two consecutive members of a homologous series

differ by a  group.

C. The members of a homologous series can be

represented by one general formula.

D. Different members of a homologous series have

similar chemical properties.

Answer: B

Watch Video Solution

−CH3

https://dl.doubtnut.com/l/_EbatrX4jPGuK


17. Compound X has the molecular formula . 


1. X can be made by fermentation process. 

2. X can be oxidised to Y. 

3. X can react with Y to form Z and water. 

To which homologous series do X, Y and Z belong?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

C2H6O

X Y Z

Alcohol Carboxylic acid Ester

X Y Z

Alcohol Ester Carboxylic acid

X Y Z

Carboxylic acid Alcohol Ester

X Y Z

Carboxylic acid Ester Alcohol

https://dl.doubtnut.com/l/_M0quV8DHQsTF


18. Structures of two different form of carbon are given

below. 

 


Identify the two forms and how are they related to each

other?

A. Diamond, Graphite, Isotopes

B. Graphite, Diamond, Allotropes

C. , Allotropes

D. , Isotopes

Answer: B

C 12, C 14

C 14, C 12

https://dl.doubtnut.com/l/_FGFDsBSepkS2


Watch Video Solution

19. Which of the following pairs of compounds of carbon

will undergo combustion as well as addition reactions?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH4 and C2H6

C2H6O and C3H8O

C2H4O2 and C3H6O

C2H2 and C3H6

https://dl.doubtnut.com/l/_FGFDsBSepkS2
https://dl.doubtnut.com/l/_J6uhrepdHfXS


Match The Following

20. The IUPAC name of  is

A. 2,2,3-trimethylpentane

B. 3,4,4-trimethylpentane

C. 2-ethyl-3,3-dimethylbutane

D. 2,3-dimethylhexane

Answer: A

Watch Video Solution

CH3 − CH2 − CH
∣

CH3

−

CH3

∣

C
∣

CH3

− CH3

https://dl.doubtnut.com/l/_TdhBIDKLifu1


1. Match the following columns

A. P-2, Q-4, R-1, S-3

B. P-1, Q-2, R-3, S-4

C. P-4, Q-3, R-2, S-1

D. P-4, Q-2, R-3, S-1

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Op98h1BA22ob
https://dl.doubtnut.com/l/_5XGMrWVtip7e


2. Match the following columns

A. P-1, Q-2, R-3, S-4

B. P-2, Q-4, R-1, S-3

C. P-4, Q-2, R-1, S-3

D. P-2, Q-1, R-3, S-4

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_5XGMrWVtip7e


3. Match the following columns

A. P-1, Q-2, R-3, S-4

B. P-3, Q-2, R-1, S-4

C. P-4, Q-3, R-1, S-2

https://dl.doubtnut.com/l/_nPpfhndwnGd3


D. P-2, Q-1, R-4, S-3

Answer: D

Watch Video Solution

4.  


https://dl.doubtnut.com/l/_nPpfhndwnGd3
https://dl.doubtnut.com/l/_yLuIlnr8mUN9


A. P-4, Q-1, R-2, S-3

B. P-4, Q-3, R-1, S-2

C. P-3, Q-1, R-2, S-4

D. P-3, Q-2, R-1, S-4

Answer: B

Watch Video Solution

5. Match the following columns

https://dl.doubtnut.com/l/_yLuIlnr8mUN9
https://dl.doubtnut.com/l/_3wLxBEVISwxQ


Assertion Reaction Type

A. P-1, Q-2, R-4, S-3

B. P-4, Q-3, R-2, S-1

C. P-4, Q-2, R-3, S-1

D. P-1, Q-2, R-3, S-4

Answer: B

Watch Video Solution

1. Assertion : Saturated hydrocarbons are chemically less

reactive. 

Reason : All the valencies of carbon atom are satisfied by

single covalent bonds.

https://dl.doubtnut.com/l/_3wLxBEVISwxQ
https://dl.doubtnut.com/l/_yYRXUkGw5jTz


A. If both assertion and reason are true and reason is

the correct explanation of assertion.

B. If both assertion and reason are true but reason is

not the correct explanation of assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: A

Watch Video Solution

2. Assertion : Alkenes usually show addition reactions. 

Reason : Alkenes are unsaturated hydrocarbons having

double bonds.

https://dl.doubtnut.com/l/_yYRXUkGw5jTz
https://dl.doubtnut.com/l/_aDmitoagPTme


A. If both assertion and reason are true and reason is

the correct explanation of assertion.

B. If both assertion and reason are true but reason is

not the correct explanation of assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: A

Watch Video Solution

3. Assertion : Reaction with  can be used as a test

to distinguish between alcohols and acids. 

NaHCO3

https://dl.doubtnut.com/l/_aDmitoagPTme
https://dl.doubtnut.com/l/_n8CJM8WeQfda


Reaction : Both alcohols and acids give brisk effervescence

with .

A. If both assertion and reason are true and reason is

the correct explanation of assertion.

B. If both assertion and reason are true but reason is

not the correct explanation of assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: C

Watch Video Solution

NaHCO3

https://dl.doubtnut.com/l/_n8CJM8WeQfda


4. Assertion : Both aldehydes and ketones contain carbonyl

group. 

Reaction : In aldehydes, the functional group is attached to

atleast one hydrogen atom.

A. If both assertion and reason are true and reason is

the correct explanation of assertion.

B. If both assertion and reason are true but reason is

not the correct explanation of assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_L0zcRaYHp16d


5. Assertion : In alkanes, alkenes and alkynes the valency of

carbon is always four. 

Reaction : All hydrocarbons except alkanes contain double

bonds.

A. If both assertion and reason are true and reason is

the correct explanation of assertion.

B. If both assertion and reason are true but reason is

not the correct explanation of assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_L0zcRaYHp16d
https://dl.doubtnut.com/l/_7NhPEaw0geps


6. Assertion : Graphite is a good conductor of electricity. 

Reason : Ih has one free valence electron.

A. If both assertion and reason are true and reason is

the correct explanation of assertion.

B. If both assertion and reason are true but reason is

not the correct explanation of assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_7NhPEaw0geps
https://dl.doubtnut.com/l/_vH3PsIGMyffZ
https://dl.doubtnut.com/l/_WVki2e7l1ftO


7. Assertion : Dehydration of ethanol with conc. 

yields ethene. 

Reason : The reaction of ethanol with conc.  is

known as dehydration.

A. If both assertion and reason are true and reason is

the correct explanation of assertion.

B. If both assertion and reason are true but reason is

not the correct explanation of assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: B

Watch Video Solution

H2SO4

H2SO4

https://dl.doubtnut.com/l/_WVki2e7l1ftO


8. Assertion : By hydrogenation, vegetable oils are

converted into vanaspati ghee. 

Reason : Vegetable oils contain at least one double bond

inb their constituents.

A. If both assertion and reason are true and reason is

the correct explanation of assertion.

B. If both assertion and reason are true but reason is

not the correct explanation of assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_aMFz5vrAdt7f


9. Assertion : The functional group present in alcohols is -

OH. 

Reaction : It is the same group as present in water, hence

water and alcohol have similar properties.

A. If both assertion and reason are true and reason is

the correct explanation of assertion.

B. If both assertion and reason are true but reason is

not the correct explanation of assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_aMFz5vrAdt7f
https://dl.doubtnut.com/l/_UqpFhvqlqjbZ


10. Assertion : Soaps are sodium salts of fatty acids. 

Reason : Soaps react with  of hard water

to give insoluble precipitates.

A. If both assertion and reason are true and reason is

the correct explanation of assertion.

B. If both assertion and reason are true but reason is

not the correct explanation of assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: B

View Text Solution

Mg2 + and Ca2 +

https://dl.doubtnut.com/l/_UqpFhvqlqjbZ
https://dl.doubtnut.com/l/_MFDN9eXvYjC6


Comprehension Type

1. PASSAGE-I : Diamond and graphite are two allotropic

forms of carbon which are crystalline in nature. They differ

physically but chemically they are similar. Diamond is the

hardest crystalline form of carbon. In diamond each carbon

atom is linked to four other carbon atoms by covalent

bonds. In graphite, each carbon atom is linked to three

other carbon atoms by covalent bond. Graphite is relatively

soft and greasy. It is a good conductor or electricity. 

Which of the following is a goos conductor of heat and

electricity?

A. Coal

https://dl.doubtnut.com/l/_MFDN9eXvYjC6
https://dl.doubtnut.com/l/_DSklZy8xPW5k


B. Diamond

C. Charcoal

D. Graphite

Answer: D

Watch Video Solution

2. PASSAGE-I : Diamond and graphite are two allotropic

forms of carbon which are crystalline in nature. They differ

physically but chemically they are similar. Diamond is the

hardest crystalline form of carbon. In diamond each carbon

atom is linked to four other carbon atoms by covalent

bonds. In graphite, each carbon atom is linked to three

other carbon atoms by covalent bond. Graphite is relatively

https://dl.doubtnut.com/l/_DSklZy8xPW5k
https://dl.doubtnut.com/l/_1aO1h8GFGbgI


soft and greasy. It is a good conductor or electricity. 

Which of the folowing types of forces bind together the

carbon atoms in diamond?

A. Ionic

B. Covalent

C. Polar

D. van der Waals'

Answer: B

Watch Video Solution

3. PASSAGE-I : Diamond and graphite are two allotropic

forms of carbon which are crystalline in nature. They differ

https://dl.doubtnut.com/l/_1aO1h8GFGbgI
https://dl.doubtnut.com/l/_G2f33CfHunk2


physically but chemically they are similar. Diamond is the

hardest crystalline form of carbon. In diamond each carbon

atom is linked to four other carbon atoms by covalent

bonds. In graphite, each carbon atom is linked to three

other carbon atoms by covalent bond. Graphite is relatively

soft and greasy. It is a good conductor or electricity. 

Graphite is a good conductor of electricity because

A. it has free electrons

B. it has free atoms

C. it is crystalline

D. it is soft and greasy

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_G2f33CfHunk2


4. PASSAGE-I : Diamond and graphite are two allotropic

forms of carbon which are crystalline in nature. They differ

physically but chemically they are similar. Diamond is the

hardest crystalline form of carbon. In diamond each carbon

atom is linked to four other carbon atoms by covalent

bonds. In graphite, each carbon atom is linked to three

other carbon atoms by covalent bond. Graphite is relatively

soft and greasy. It is a good conductor or electricity. 

Which allotrope gives carbon dioxide on heating?

A. Graphite

B. Diamond

C. Coal

D. All of these

https://dl.doubtnut.com/l/_ufmvC37Hggj3


Answer: D

Watch Video Solution

5. PASSAGE-II : In all the organic compounds, the four

valencies of carbon atom must be satisfied, either by single,

double or triple bonds. It is not possible to get a compound

in which the carbon atom has valencies either less or more

than four. In these compounds carbon atoms can be linked

together in the form of straight chains, branched chains or

even ring chains. 

In order to form branching, an organic compound must

have a minimum of

A. four carbon atoms

https://dl.doubtnut.com/l/_ufmvC37Hggj3
https://dl.doubtnut.com/l/_XSfDYCrPwvZX


B. three carbon atoms

C. five carbon atoms

D. any number of carbon atoms

Answer: A

Watch Video Solution

6. PASSAGE-II : In all the organic compounds, the four

valencies of carbon atom must be satisfied, either by single,

double or triple bonds. It is not possible to get a compound

in which the carbon atom has valencies either less or more

than four. In these compounds carbon atoms can be linked

together in the form of straight chains, branched chains or

https://dl.doubtnut.com/l/_XSfDYCrPwvZX
https://dl.doubtnut.com/l/_yOvSTNnzHRh7


even ring chains. 

The number of  bonds in ethene  is

A. four

B. six

C. two

D. ten

Answer: A

Watch Video Solution

C − H (C2H4)

7. PASSAGE-II : In all the organic compounds, the four

valencies of carbon atom must be satisfied, either by single,

double or triple bonds. It is not possible to get a compound

https://dl.doubtnut.com/l/_yOvSTNnzHRh7
https://dl.doubtnut.com/l/_u3kM75htNJ8f


in which the carbon atom has valencies either less or more

than four. In these compounds carbon atoms can be linked

together in the form of straight chains, branched chains or

even ring chains. 

The compound in which a double bond is present between

two carbon atoms is

A. ethane

B. ehtene

C. ethyne

D. ethanol

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_u3kM75htNJ8f
https://dl.doubtnut.com/l/_tJeDhiCkMTZb


8. PASSAGE-II : In all the organic compounds, the four

valencies of carbon atom must be satisfied, either by single,

double or triple bonds. It is not possible to get a compound

in which the carbon atom has valencies either less or more

than four. In these compounds carbon atoms can be linked

together in the form of straight chains, branched chains or

even ring chains. 

Identify the unsaturated hydrocarbon.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

C4H10

C4H8

C5H12

CH4

https://dl.doubtnut.com/l/_tJeDhiCkMTZb


Watch Video Solution

9. PASSAGE-III : Structural formmulae of some organic

compounds are given : 

 


The compound belonging to same homologous series are

A. A and B

B. B and C

C. B and D

D. E and F

https://dl.doubtnut.com/l/_tJeDhiCkMTZb
https://dl.doubtnut.com/l/_c5TrQUTi4VH4


Answer: C

Watch Video Solution

10. PASSAGE-III : Structural formmulae of some organic

compounds are given : 

 

Thwe structures which do not belong to hydrocarbons are

A. A and C

B. A, B and C

C. E and F

D. C and D

Answer: C

https://dl.doubtnut.com/l/_c5TrQUTi4VH4
https://dl.doubtnut.com/l/_3gyGON3seY9r


View Text Solution

11. PASSAGE-III : Structural formmulae of some organic

compounds are given : 

 


How can F be converted to C?

A. By heating with conc. 

B. By heating with Ni

C. By heating with carboxylic acid

H2SO4

https://dl.doubtnut.com/l/_3gyGON3seY9r
https://dl.doubtnut.com/l/_nvaG5hJfgekm


D. By heating with Na metal

Answer: A

Watch Video Solution

12. PASSAGE-III : Structural formmulae of some organic

compounds are given : 

 

The compounds which can undergo addition reactions are

A. A, B and C

B. B, C and D

C. E, F and C

D. B, D and F

https://dl.doubtnut.com/l/_nvaG5hJfgekm
https://dl.doubtnut.com/l/_q5YKa0zQFNJ7


Answer: B

View Text Solution

13. PASSAGE-IV : A neutral organic compound A of molecular

formula , on oxidation with potassium dichromate

and sulphuric acid gives an acidic compound B. The

compound A reacts with B on warming in presence of conc.

 to give a sweet smelling substance C. C on heating

with D gives back A. 

In the given reaction A is

A. 

B. 

C. 

C2H6O

H2SO4

CH3CH2OH

CH3COOH

CH3COOC2H5

https://dl.doubtnut.com/l/_q5YKa0zQFNJ7
https://dl.doubtnut.com/l/_uunecTEorCVy


D. 

Answer: A

Watch Video Solution

CH3OH

14. PASSAGE-IV : A neutral organic compound A of molecular

formula , on oxidation with potassium dichromate

and sulphuric acid gives an acidic compound B. The

compound A reacts with B on warming in presence of conc.

 to give a sweet smelling substance C. C on heating

with D gives back A. 

In the above sequence of reactions compound B is

A. ethanol

B. ethanoic acid

C2H6O

H2SO4

https://dl.doubtnut.com/l/_uunecTEorCVy
https://dl.doubtnut.com/l/_xRLslBKgGXrj


C. ethyl ethanoate

D. water

Answer: B

Watch Video Solution

15. A neutral organic compound A of molecular formula

, on oxidation with potassium dichromate and

sulphuric acid gives an acidic compound B. The compound A

reacts with B on warming in presence of conc.  to

give a sweet smelling substance C. C on heating with D

gives back A. 

Compound C in the above reaction is

A. an alcohol

C2H6O

H2SO4

https://dl.doubtnut.com/l/_xRLslBKgGXrj
https://dl.doubtnut.com/l/_mi5FVWoxLjme


B. an ester

C. a hydrocarbon

D. hydrogen

Answer: B

Watch Video Solution

16. PASSAGE-IV : A neutral organic compound A of molecular

formula , on oxidation with potassium dichromate

and sulphuric acid gives an acidic compound B. The

compound A reacts with B on warming in presence of conc.

 to give a sweet smelling substance C. C on heating

with D gives back A. 

Identify the reagent D.

C2H6O

H2SO4

https://dl.doubtnut.com/l/_mi5FVWoxLjme
https://dl.doubtnut.com/l/_0Rjg1h3msr3i


A. 

B. 

C. Conc. 

D. 

Answer: B

Watch Video Solution

H2O

NaOH

H2SO4

K2Cr2O7

17. PASSAGE-V : 

 


In the above sequences of reaction A is

A. CH3OH

https://dl.doubtnut.com/l/_0Rjg1h3msr3i
https://dl.doubtnut.com/l/_a4ks6yCAAWmw


B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3COOH

CH3CHO

CH3COCH3

18. PASSAGE-V : 

 


The compound B is

A. hydrogen

https://dl.doubtnut.com/l/_a4ks6yCAAWmw
https://dl.doubtnut.com/l/_QqsedMV6XDy3


B. sodium hydroxide

C. carbon dioxide

D. ethanol

Answer: C

Watch Video Solution

19. PASSAGE-V : 

 


In the sequence of reaction C is

A. Ca(OH)2

https://dl.doubtnut.com/l/_QqsedMV6XDy3
https://dl.doubtnut.com/l/_1PSuodn0u2fk


B. 

C. 

D. 

Answer: A

Watch Video Solution

CaC2

CaCO3

CaSO4

20. PASSAGE-V : 

 


The reagent D is

A. NaOH

https://dl.doubtnut.com/l/_1PSuodn0u2fk
https://dl.doubtnut.com/l/_IZvRQa8fNlrp


Subjective Problems Very Short Answer Type

B. 

C. 

D. 

Answer: C

Watch Video Solution

Na2CO3

Na

NaHCO3

1. How is the conductivity shown by carbon compounds?

Watch Video Solution

https://dl.doubtnut.com/l/_IZvRQa8fNlrp
https://dl.doubtnut.com/l/_jtglfvK3lA0M


2. Why does carbon not form the ionic compounds?

Watch Video Solution

3. What happens when a small piece of sodium is dropped

into ethanol?

Watch Video Solution

4. How does the conductivity vary in diamond and graphite?

Watch Video Solution

https://dl.doubtnut.com/l/_UIZlh50OkPjW
https://dl.doubtnut.com/l/_IZvscmx9r2OZ
https://dl.doubtnut.com/l/_3jZQAfSPBh9M


5. What are saturated and unsaturated compounds? Give

examples also.

Watch Video Solution

6. What is the role of a functional group in an organic

compound?

Watch Video Solution

7. What is the common name of simplest acid and why?

Watch Video Solution

https://dl.doubtnut.com/l/_HyDLOAumMELF
https://dl.doubtnut.com/l/_ZJh8mwEQHyDr
https://dl.doubtnut.com/l/_nIzELCafocJ2


8. Write the name and formula of the  member of

homologous series having general formula .

Watch Video Solution

2nd

CnH2n

9. Which two of the following compounds belong to same

homologous series? 

Watch Video Solution

C2H6O2, C2H6O, C2H6, CH4O

10. What is the valency of carbon in its compounds?

Watch Video Solution

https://dl.doubtnut.com/l/_dsKD3YvJDUqw
https://dl.doubtnut.com/l/_TaZEkmwC2mFP
https://dl.doubtnut.com/l/_2HGwVTBtPivU
https://dl.doubtnut.com/l/_O6zmk3uwf8iY


11. Out of kitonic and aldehydic group, which is the terminal

functional group?

View Text Solution

12. The formula of a hydrocarbon is . Name the family

to which it belongs and also predict its nature.

Watch Video Solution

CnH2n

13. An unknown compound has the smell of vineger. Identiy

Watch Video Solution

https://dl.doubtnut.com/l/_O6zmk3uwf8iY
https://dl.doubtnut.com/l/_VHuUKBvzNfK4
https://dl.doubtnut.com/l/_jLAx89ZxWiY8


Subjective Problems Short Answer Type

14. What do we get when ethanoic acid reats with athanol

in the presence of concentrated sulphuric acid?

View Text Solution

15. Vapours of a hydrocarbon were passed through bromine

dissolved in carbon tetrachloride. The yellow colour of

bromine got discharged? Predict the nature of the

hydrocarbon.

View Text Solution

https://dl.doubtnut.com/l/_snhiboTrOd4S
https://dl.doubtnut.com/l/_V2fZPLOVRHW0


1. Why are covalent compounds generally poor conductors

of electricity?

Watch Video Solution

2. Name the following compound : 

Watch Video Solution

H −

H

∣

C
∣

H

− C
∣ ∣

O

−

H

∣

C
∣

H

− H

3. Name the gas evolved when ethanoic acid is added to

sodium carbonate. How would you prove the presence of

this gas?

Vi T t S l ti

https://dl.doubtnut.com/l/_gqCeqqfyA13s
https://dl.doubtnut.com/l/_8r8UoJk1RYEt
https://dl.doubtnut.com/l/_jrhRuIWSkfoa


View Text Solution

4. Give reasons for the following observations : 

Air holes of a gas burner have to be adjusted when the

heated vessels get blackened by the flame.

View Text Solution

5. Give reasons for the following observations : 

Use of synthetic detergents causes pollution of water.

Watch Video Solution

6. An organic compound 'X' with molecular formula ,

on oxidation with acidified potassium dichromate gives

C2H6O

https://dl.doubtnut.com/l/_jrhRuIWSkfoa
https://dl.doubtnut.com/l/_CuYMm6IToo8X
https://dl.doubtnut.com/l/_DsW1ddJTVOUD
https://dl.doubtnut.com/l/_aECquYfZg7lq


ethanoic acid. What is the compound X? Write equation

also.

Watch Video Solution

7. What is a 'homologous series' of substance?

Watch Video Solution

8. In an organic compound, which parts largely determine

its physical and chemical properties?

Watch Video Solution

https://dl.doubtnut.com/l/_aECquYfZg7lq
https://dl.doubtnut.com/l/_99KJYQ9K5HT2
https://dl.doubtnut.com/l/_qQ1GbdMhPzhX


9. Write a chemical equation to represent the reaction of

ethanol with acidified solution of potaasium dichromate.

Watch Video Solution

10. 1000  of propane is burnt completely in oxygen. 


What is the full structural formula of propane?

Watch Video Solution

cm3

11. 1000  of propane is burnt completely in oxygen. 


Draw the electronic structure of propane.

Watch Video Solution

cm3

https://dl.doubtnut.com/l/_0BTkqZSIuHmu
https://dl.doubtnut.com/l/_VFpBsxot5GBS
https://dl.doubtnut.com/l/_JkRWtHUPyPE9
https://dl.doubtnut.com/l/_kYqYQfotyaZ3


12. 1000  of propane is burnt completely in oxygen. 


Write the balanced chemical equation for the complete

combustion of propane.

Watch Video Solution

cm3

13. An organic compound 'X' which is sometimes used as

antifreeze has the molecular formula . 'X' on

oxidation gives a compound 'Y' which gives effervescence

with baking soda solution. What can 'X' and 'Y' be? Write the

structural formulae.

Watch Video Solution

C2H6O

https://dl.doubtnut.com/l/_kYqYQfotyaZ3
https://dl.doubtnut.com/l/_247HpzbdMa9s


14. What are the reactive sites for addition reactions in

unsaturated hydrocarbons? Give one example.

Watch Video Solution

15. Three hydrocarbons A, B and C have melting points

 respectively. Which

one has minimum number of carbon atoms in molecule?

Watch Video Solution

−183∘ C, − 138∘ C, and − 95.3∘ C

16. What is meant by saponification? Give an example.

Watch Video Solution

https://dl.doubtnut.com/l/_0gi2LlxwyZd5
https://dl.doubtnut.com/l/_Ni0O6vY9xML9
https://dl.doubtnut.com/l/_qPWreftDe9j6
https://dl.doubtnut.com/l/_QWuQbSRbjMae


17. What is esterification? Or What happens when ethyl and

acetic acid react with each other in the presence of conc.

 ?

View Text Solution

H2SO4

18. What is scum? How is it formed?

Watch Video Solution

19. What are the advantages of synthetic detergents over

soaps?

Watch Video Solution

https://dl.doubtnut.com/l/_QWuQbSRbjMae
https://dl.doubtnut.com/l/_02PlW2w4gScM
https://dl.doubtnut.com/l/_5Vyd46NRN6KW
https://dl.doubtnut.com/l/_HQRaMvG4GPG6


20. Write a chemical test to distinguish between ethanol ad

ethanoic acid.

Watch Video Solution

21. What is meant by decarboxylation? Explain with example.

Watch Video Solution

22. Two carbon compounds A and B have the molecular

formulae  and , respectively. Which one of the

two is most likely to show addition reaction? Justify your

answer. Explain with the help of a chemical equation, how

an addition reaction is useful in vegetable ghee industry.

Watch Video Solution

C3H8 C3H6

https://dl.doubtnut.com/l/_HQRaMvG4GPG6
https://dl.doubtnut.com/l/_EckaDrRWOlGs
https://dl.doubtnut.com/l/_nsgLOo2SglUC


Subjective Problems Long Answer Type

1. Explain the formation of (i) oxygen molecule and (ii)

ethylene molecule with the help of Lewis dot structure.

Watch Video Solution

2. What are the main properties of covalent compounds

with respect to melting and boiling points, solubility and

conductivity?

View Text Solution

https://dl.doubtnut.com/l/_nsgLOo2SglUC
https://dl.doubtnut.com/l/_zzivarNWbJs0
https://dl.doubtnut.com/l/_KdXFbtJnHtuH


3. Elements forming ionic compounds attain noble gas

electronic configuration by either gaining or losing

electrons from their valence shells. Explain giving reason

why carbon cannot attain such a configuration in this

manner to form its compounds. Name the type of bonds

formed in ionic compounds and in the compounds formed

by carbon. Also explain with reason why carbon compounds

are generally poor conductors of electricity.

View Text Solution

4. Define the term 'isomers'.

Watch Video Solution

https://dl.doubtnut.com/l/_QT9SagnUdfLo
https://dl.doubtnut.com/l/_tR0JXbXXQ6xY
https://dl.doubtnut.com/l/_s67kXYhnbPIK


5. Draw two possible isomers of the compound with

molecular formula  and write their names.

Watch Video Solution

C3H6O

6. Give the electron dot structures of the above two

compounds.

View Text Solution

7. Write the structural formulae for 

2-methyl-2-butane

Watch Video Solution

https://dl.doubtnut.com/l/_s67kXYhnbPIK
https://dl.doubtnut.com/l/_KRY9DIPbsiCp
https://dl.doubtnut.com/l/_lPGJWT5BjVIM


8. Write the structural formulae for 

2-methylpropene.

Watch Video Solution

9. Write the structural formulae for 

Methyl propyl ether

Watch Video Solution

10. Write the structural formulae for 

2,2-dimethyl propane

Watch Video Solution

https://dl.doubtnut.com/l/_3MLjuwnq8FIu
https://dl.doubtnut.com/l/_dvKcK6mbQCLl
https://dl.doubtnut.com/l/_b4Eg3pEEqfGr
https://dl.doubtnut.com/l/_WM4QhsfKsX9w


11. Write the structural formulae for 

4,6-dimethyl hept-2-ene

Watch Video Solution

12. Write IUPAC names of the following compounds : 

Watch Video Solution

CH3CH2COOH

13. Write IUPAC names of the following compounds : 

Watch Video Solution

CH3CHO

https://dl.doubtnut.com/l/_WM4QhsfKsX9w
https://dl.doubtnut.com/l/_rYNSXojlHRIa
https://dl.doubtnut.com/l/_v6CfufJPFjqH
https://dl.doubtnut.com/l/_oMXcUMOE7vRs


14. Write IUPAC names of the following compounds : 

Watch Video Solution

CH3C
∣

I

HCH3

15. Write IUPAC names of the following compounds : 

Watch Video Solution

CH3CH2CH2OH

16. Write IUPAC names of the following compounds : 

Watch Video Solution

CH3 C
∣

OH

HCH3

https://dl.doubtnut.com/l/_oMXcUMOE7vRs
https://dl.doubtnut.com/l/_c3uwxTAmadgw
https://dl.doubtnut.com/l/_8SD4CzWIqGpI
https://dl.doubtnut.com/l/_60doaOmkH2fx


17. A hydrocarbon has three carbon atoms. Write down its

molecular formulae as 

alkane

Watch Video Solution

18. A hydrocarbon has three carbon atoms. Write down its

molecular formulae as 

alkene

Watch Video Solution

19. A hydrocarbon has three carbon atoms. Write down its

molecular formulae as 

https://dl.doubtnut.com/l/_60doaOmkH2fx
https://dl.doubtnut.com/l/_47cFPRr6jwTf
https://dl.doubtnut.com/l/_m6TYaI6queba


alkyne

Watch Video Solution

20. A hydrocarbon has three carbon atoms. Write down its

molecular formulae as 

alcohol derivative

Watch Video Solution

21. A hydrocarbon has three carbon atoms. Write down its

molecular formulae as 

aldehyde derivative

Watch Video Solution

https://dl.doubtnut.com/l/_m6TYaI6queba
https://dl.doubtnut.com/l/_aWqHJ1Hz58dy
https://dl.doubtnut.com/l/_R5sOnzBplfnN
https://dl.doubtnut.com/l/_HkT4spVE37aa


22. A hydrocarbon has three carbon atoms. Write down its

molecular formulae as 

ketone derivative

Watch Video Solution

23. A hydrocarbon has three carbon atoms. Write down its

molecular formulae as 

acid derivative

Watch Video Solution

24. What is the difference between combustion and

oxidation? Under what conditions an oxidation reaction

https://dl.doubtnut.com/l/_HkT4spVE37aa
https://dl.doubtnut.com/l/_RmZ2tH4J6g8n
https://dl.doubtnut.com/l/_r011RsyksKCL


becomes combustion?

Watch Video Solution

25. List in tabular form three physical and two chemical

properties on the basic of which ethanol and ethanoic acid

can be differentiated.

Watch Video Solution

26. What happens when ethanoic acid reacts with 

magnesium 

Write chemical equation in each case.

Watch Video Solution

https://dl.doubtnut.com/l/_r011RsyksKCL
https://dl.doubtnut.com/l/_GukY0UHZHnOi
https://dl.doubtnut.com/l/_rBY8rGPZMvg9
https://dl.doubtnut.com/l/_WYkPOYkWtRpt


Integer Numerical Value Type

27. What happens when ethanoic acid reacts with 

sodium carbonate 

Write chemical equation in each case.

Watch Video Solution

28. What happens when ethanoic acid reacts with 

sodium hydroxide? 

Write chemical equation in each case.

Watch Video Solution

https://dl.doubtnut.com/l/_WYkPOYkWtRpt
https://dl.doubtnut.com/l/_DJrocV5uy1Ji


1. Maximum number of structural isomers for a pentane

with molecular formula  is

Watch Video Solution

C5H12

2. The number of compounds in the following compounds

belong to same homologous series is 

Watch Video Solution

CH2O2, C3H8O, C2H4O2, C2H6, C3H6O2, C5H10O2, C3H8

3. Number of carbon atoms in alkane having molecular mass

58 is

Watch Video Solution

https://dl.doubtnut.com/l/_uU0vcZqE2eFJ
https://dl.doubtnut.com/l/_yPNwk5PrLlgi
https://dl.doubtnut.com/l/_i0lCJ7YUlQp0


Olympaid Hots Corner

4. The number of alkanes in the following compounds is 

.

Watch Video Solution

C3H8, C3H6, C4H8, C4H6 and C5H12

5. The difference in the molecular mass for

 is

Watch Video Solution

CH3OH and C2H5OH

https://dl.doubtnut.com/l/_i0lCJ7YUlQp0
https://dl.doubtnut.com/l/_Vn6ciiH0YASG
https://dl.doubtnut.com/l/_i9VxOH1nGIlO


1. An organic compound 'A' on heating with concentrated

 forms a compound 'B' which on addition of one

mole of hydrogen in presence of Ni forms a compound 'C'.

One mole of compound 'C' on combustion forms two moles

of  and three moles of . 


Which of the following represents the compound 'C' ?

A. , a saturated hydrocarbon

B. , an unsaturated hydrocarbon

C. HCOOH, an unsaturated acid

D. , a saturated alcohol

Answer: A

Watch Video Solution

H2SO4

CO2 H2O

C2H6

C2H4

C2H5OH

https://dl.doubtnut.com/l/_bx3EspjerKve


2. An organic compound 'A' on heating with concentrated

 forms a compound 'B' which on addition of one

mole of hydrogen in presence of Ni forms a compound 'C'.

One mole of compound 'C' on combustion forms two moles

of  and three moles of . 


When 'B' and 'C' are added separately to the test tubes

conrtaining orange-brown liquid 'X', the colour disappears

in case of 'B' but remains same in case of 'C'. The name of

the liquid 'X' and the substance responsible for colour

change are respectively

A. alkaline  solution and ethanoic acid

B. alkaline  and ethanol

C. bromine water and 1, 2-dibromoethane

D. bromine water and 1, 1, 2, 2-tetrabromoethane.

H2SO4

CO2 H2O

KMnO4

KMnO4

https://dl.doubtnut.com/l/_Aw9kVwikJJIc


Answer: C

View Text Solution

3. The given diagrams shows the arrangement of valence

electrons in organic compound Q, having molecular formula

. 


 


What could be the compound Q?

A. Methanol

B. Ethanol

X2Y Z2

https://dl.doubtnut.com/l/_Aw9kVwikJJIc
https://dl.doubtnut.com/l/_gEAQP7GSdXt7


C. Methanoic acid

D. Ethanoic acid

Answer: C

Watch Video Solution

4. Match column I with column II and select the correct

option from the given codes. 

A. (A) - (i), (B) - (iii), (c) - (ii), (D) - (iv)

https://dl.doubtnut.com/l/_gEAQP7GSdXt7
https://dl.doubtnut.com/l/_HmsA4uhSJZy7


B. (A) - (iv), (B) - (iii), (c) - (ii), (D) - (i)

C. (A) - (i), (B) - (iv), (c) - (iii), (D) - (ii)

D. (A) - (iii), (B) - (i), (c) - (iv), (D) - (ii)

Answer: D

Watch Video Solution

5. When alcohols react with carboxylix acids in the presence

of concentrated sulphuric acid, compounds with fruity smell

called edters are formed. Also, alcohols on oxidation in the

presence of acidified  form carboxylic acids. 


If third member of alcohol family (homologous series)

undergoes esterification reaction with second member of

K2Cr2O7

https://dl.doubtnut.com/l/_HmsA4uhSJZy7
https://dl.doubtnut.com/l/_o0xd0rxhUfda


carboxylic acid family then, the name of ester formed and

its formed and its formula will be respectively

A. ethyl propanoate, 

B. propyl propanoate, 

C. ethyl butanoate, 

D. ethyl ethanoate, 

Answer: B

Watch Video Solution

CH3CH2COOCH2CH3

CH3COOCH2CH2CH3

CH3CH2CH2COOCH2CH3

CH3COOCH2CH3

6. When alcohols react with carboxylix acids in the presence

of concentrated sulphuric acid, compounds with fruity smell

called edters are formed. Also, alcohols on oxidation in the

https://dl.doubtnut.com/l/_o0xd0rxhUfda
https://dl.doubtnut.com/l/_XpIQ3CaPC2xs


presence of acidified  form carboxylic acids. 


 on oxidation with acidified  gives 

.


Which of the following statements is/are correct regarding

these two compounds? 

I. Ther both react with sodium metal to evolve a

combustible gas. 

II. They both react with  to evolve a gas which

turns lime water milky. 

III. They both turn blue litmus red.

A. I and II only

B. II only

C. I only

D. I, II and II

K2Cr2O7

C2H5OH K2Cr2O7

CH3COOH

NaHCO3

https://dl.doubtnut.com/l/_XpIQ3CaPC2xs


Answer: C

Watch Video Solution

7. An organic compound 'A' on treating with acidified

potassium dichromated solution gives 'B' with molecular

mass 60 g/mol. 'A' on heating with conc.  at 443 K

produces a gas that decolourise bromine water. The

compound 'A' is

A. n-propyl alcohol

B. iso-propyl alcohol

C. ehtyl alcohol

D. acetaldehyde

H2SO4

https://dl.doubtnut.com/l/_XpIQ3CaPC2xs
https://dl.doubtnut.com/l/_vnvZ7jo26D2z


Answer: C

Watch Video Solution

8. Ethanol is made unfit for drinking by adding

A. propanol

B. methanal

C. methanol

D. ethanal

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_vnvZ7jo26D2z
https://dl.doubtnut.com/l/_UKYcOY112PHT


9. Dilute solution of alkaline potassium permanganate is

known as

A. Baeyer's reagent

B. Tollen's reagent

C. Fehling solution

D. Benedict solution

Answer: A

Watch Video Solution

10. What is the IUPAC name of the following compound? 

CH3 − CH2 − CH
∣

Cl − C
∣

C2H5

− Cl

− C3H7

https://dl.doubtnut.com/l/_DEGce4BtDkfp
https://dl.doubtnut.com/l/_UxPxKyniNEF2


A. 3,3-Dichloro-4-ethylheptane

B. 4-Ethyl-3, 3-dichlorohexane

C. 4-Ethyl-3-chlorohexane

D. 3, 3-Dichloro-4-butylheptane

Answer: A

Watch Video Solution

11. The allotrope of carbon in amorphous from among the

following is

A. diamond

B. graphite

C. buckminster fullerence

https://dl.doubtnut.com/l/_UxPxKyniNEF2
https://dl.doubtnut.com/l/_mlaKSTzXec25


D. coal

Answer: D

View Text Solution

12. The IUPAC name of  is

A. 3-phenylprop-2-enoic acid

B. cinnamic acid

C. 1-carboxy-2-phenylethene

D. 1-phenylpropenoic acid

Answer: A

Watch Video Solution

PhCH = CH − COOH

https://dl.doubtnut.com/l/_mlaKSTzXec25
https://dl.doubtnut.com/l/_21WjBldTmu1y


13. Read the statements about carbon and choose correct

option. 

A. It has small atomic size. 

B. Its melting and boiling points are low as compared to

other members of group. 

C. It shows electropositive character. 

D. It shows maximum tendency of catenation.

A. A and B are correct.

B. B and D are correct.

C. A, C and D are correct.

D. A and D are correct.

Answer: D

https://dl.doubtnut.com/l/_21WjBldTmu1y
https://dl.doubtnut.com/l/_qnsQ5TMDkuAi


Watch Video Solution

14. The highly significant isomers among the following

compounds are 

A. Methane B. Propane 

C. Butane D. Hexane

A. A and B

B. A and D

C. B and C

D. C and D

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_qnsQ5TMDkuAi
https://dl.doubtnut.com/l/_OpRpSNYIIuVl
https://dl.doubtnut.com/l/_7znQkaxCEa5m


15. Ajay got stung by red ant, it causes itching and irritation.

The sting consists of which of the following acid>

A. Acetic acid

B. Butyric acid

C. Carbonic acid

D. Formic acid

Answer: D

Watch Video Solution

16. Which of the following has shortest carbon-carbon bond

length?

https://dl.doubtnut.com/l/_7znQkaxCEa5m
https://dl.doubtnut.com/l/_jOUcKmbS9wOS


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

C2H2

C2H4

C2H6

C6H6

17. Which of the following represent saponification

reaction?

A. 

B. 

CH3COONa + NaOH
CaO
−−→ + Na2CO3

CH3COOH + C2H5OH
H2SO4

−−−→ CH3COOC2H5 + H2O

https://dl.doubtnut.com/l/_jOUcKmbS9wOS
https://dl.doubtnut.com/l/_ZxQbwbEoDefg


C. 

D. 

Answer: D

Watch Video Solution

2CH3COOH + 2Na → 2CH3COONa + H2

CH3COOC2H5 + NaOH → CH3COONa + C2H5OH

18. Hard water does not easily produce lather with soap

because it contains

A. Only  ions

B. Only  ions

C. both  ions

D. both  ions

Mg2 +

Ca2 +

Mg2 + and Ca2 +

Na + and K +

https://dl.doubtnut.com/l/_ZxQbwbEoDefg
https://dl.doubtnut.com/l/_9i6xMb9Rmndv


Answer: C

Watch Video Solution

19. Which of the following organic compounds does not

have the same chemical properties as methanol?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

C2H6O

C5H10O

C4H10O

C7H16O

https://dl.doubtnut.com/l/_9i6xMb9Rmndv
https://dl.doubtnut.com/l/_ECOZS0Uxv39T


20. Write the IUPAC name of 

A. neo-Pentane

B. 2, 2-Dimnethylpropane

C. 2-methylpentane

D. 2, 3-Dimethylpropane

Answer: B

Watch Video Solution

CH3 −

CH3

∣

C
∣

CH3

− CH3

21. Which type of bond is present between carbon-carbon

atoms in acetylene?

https://dl.doubtnut.com/l/_sItmsNFmRbrv
https://dl.doubtnut.com/l/_w9pVKAp9XkXB


A. Single covalent bond

B. Double covalent bond

C. Triple covalent bond

D. Electrovalent bond

Answer: C

Watch Video Solution

22.  


Identify X, Y and Z respectively.

A. CH3COOH, CH2 = CH2, CH3COOCH3

https://dl.doubtnut.com/l/_w9pVKAp9XkXB
https://dl.doubtnut.com/l/_seP9MKtUrb4G


B. 

C. 

D. 

Answer: B

Watch Video Solution

CH2 = CH2, CH3COOH, CH3COOCH2CH3

HCHO, CH3CH3, CH3CH2COOH

CH3CH3, HCHO, CH3COOH

23.  


What are the types of reactinos occurring in the formation

of X, Y and Z respectively ?

A. Oxidation, Reduction, Substitution

https://dl.doubtnut.com/l/_seP9MKtUrb4G
https://dl.doubtnut.com/l/_OvJnbCfCxsA5


B. Substitution, Esterification, Dehydration

C. Reduction, Substitution, Oxidation

D. Dehydration, Oxidation, Esterification

Answer: D

Watch Video Solution

24. Compound X decolourises acidified potassium

dechromate to produce an acid with a pH value of 4.5.

Which of the following could be the structure of X?

A. 

B. 

C. 

CH3CH2COOH

CH3CH2CH2OH

CH2 = CH − CH3

https://dl.doubtnut.com/l/_OvJnbCfCxsA5
https://dl.doubtnut.com/l/_rTvYceBjyFiA


D. 

Answer: B

Watch Video Solution

CH3CH2CH3

25. Three hydrocarbons X, Y and Z are shown below: 

 


Identify the incorrect statements about these three

hydrocarbons. 

I. X and Y both differ by a  unit. 


II. X and Z have the same boiling point. 

III. All have different general formulae. 

IV. Y and Z have different molecular masses.

X : CH3CH2CH2CH2CH3, Y : CH3 − C ≡ C − CH2CH3

Z : CH3CH2 − CH = CH − CH3

−CH2

https://dl.doubtnut.com/l/_rTvYceBjyFiA
https://dl.doubtnut.com/l/_Lvjj7daBdV7S


A. I and II

B. II and III

C. I and IV

D. All the statements are incorrect

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Lvjj7daBdV7S

